
1) is

2) is

3) has

4) has

5) is

6) was

7) is

8)  is

9) boy is

10) are

1. is

2.was

3.was

4.has

5.need

6. is

7.are

8.is

11) have

12) is

13) is

14) have

15) has

16) criminals

17) was

18) were

19) are

20) was

Check your ability

9.has

10.have

11. have

12.increases

13. has

14.has

15.are
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KWnXw efnXw ˛ 5KWnXw efnXw ˛ 5

1) 25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿

thKX = Zqcw/kabw

=100/4

=25km/hr

 2) 140140140140140

BZ-ysØ 2 aWn-°q-dn¬ k©-cn® Zqcw

= 2 ´ 30

= 60

ASpØ 2 aWn-°q-dn¬ k©-cn® Zqcw

= 2 ´ 40

= 80

 BsI k©-cn® Zqcw = 60 + 80

= 140km

 3) 99999

Zqcw = thKX ´ kabw

= 45 ´ 8

kabw = Zqcw/thKX

= 45 ´ 8
     40

= 9 aWn-°q¿

4) 4848484848

  Zqcw = 36 ´ 4

thKX = Zqcw/kabw

= 36 ´ 4
     3

= 48km/hr

5) 3636363636
1 an\n-´n¬ = 600 ao‰¿

     1 sk°‚n¬ = 600
      60    = 10m

  aWn-°q-dnse thKX = 10 ´18/5
   = 36km/hr

 6) 90 Intem-ao-‰¿90 Intem-ao-‰¿90 Intem-ao-‰¿90 Intem-ao-‰¿90 Intem-ao-‰¿
1 aWn-°q¿ ˛ 60 In.ao
   60 an\n´v ˛ 60 In.ao
   90 an\n´v ˛ ?
       90 ´ 60 = 90km

 60
 7) 48 In.ao48 In.ao48 In.ao48 In.ao48 In.ao

icm-icn thKX = 2ab

      a+b

  = 2 ´ 40 ´ 60

100

  = 48 km/hr



8) 1250 1250 1250 1250 1250
32 ao‰-dn\v 10 {]mh-iyw
1 ao‰-dn\v = 10/32 {]mh-iyw
4000 ao‰-dn\v (4 km )

   = 10 ´ 4000
                                 32

   = 1250 {]mh-i-yw

9) 4848484848km/hr

2ab   
=

 2 ´ 60 ´ 40

a+b             100

         = 48km/hr

10) 1.44 In.ao1.44 In.ao1.44 In.ao1.44 In.ao1.44 In.ao
S

1
 ´ S

2 
 ´ t

  S
1 
- S

2

        = 1.8 ´ 2.4  
´
 12

                  0.6        60
      = 1.44

11) 4040404040
k©-cn-°p∂ Zqcw = 50 ´ 2

     = 100
     thK-X = 100/2.5

     = 40km/hr

 12) 5 an\n´v 5 an\n´v 5 an\n´v 5 an\n´v 5 an\n´v
1 an\n´v sIm≠v \S-°p∂ Zqcw = 90/2

  = 45-ao-‰¿
     225 ao‰¿ \S-°m≥ th≠ ka-bw = 225/45

  = 5 an\n´v

13) 37373737371/1/
1/1/1/22222

2ab  
=

 2 ´ 50 ´ 30

a+b           80

                              = 37 1/2

 14) 25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿25 In.ao/aWn-°q¿
thK-X = -  Zqcw

   kabw
= 100/4
=25km/hr

 15) 500ao500ao500ao500ao500ao
= 30 ´1/60
= 1/2 In.ao
= 500 ao‰¿

Are You Are You Are You Are You Are You IIIIIntelligentntelligentntelligentntelligentntelligent
1) 108 In.ao108 In.ao108 In.ao108 In.ao108 In.ao

thKX = 306/7
= 216/7

ka-bw = 31/2   = 7/2
   Zqcw = 216/7 ´ 7/2

= 108km

 2) an\n´van\n´van\n´van\n´van\n´v

c bpsS thKX 1 F¶n¬

B bpsS thKX 3 BWv

A bpsS thKX 6 BWv

C 48 an\n´v sIm≠v ]q¿Øn-bm-°p∂ Zqcw

A bv°v = 48/6
 = 8 an\n´v

3) 6464646464

icm-icn thKX = k©-cn® Zqcw

kabw

     Zqcw = 4 ´ 60  = 240

                             4 ´ 80  = 320

                             2 ´ 40  = 80

BsI Zqcw = 640 In.ao

     BsI ka-bw = 10 aWn-°q¿

     thK-X = 640/10

                                      = 64km/hr4) 7.5 In.an7.5 In.an7.5 In.an7.5 In.an7.5 In.an

    S
1
 ´ S

2 
´ t

      S
1
-S

2

= 3 ´ 3.75 
´

 1

                          3 -3.75      2

= 7.5 km

 5) 87.5 In.ao/aWn-°q¿87.5 In.ao/aWn-°q¿87.5 In.ao/aWn-°q¿87.5 In.ao/aWn-°q¿87.5 In.ao/aWn-°q¿

c≠p _kns‚ thKX 7x, 8x  km/hr

8x = 400

                               4

                       x = 
100

/8

                          = 12.5 In.an/aWn-°q¿

         BZy _kns‚ thKX

   = 7 ´ 12.5

   = 87.5In.ao/aWn-°q¿

S
1
 = 0.6 ´60

  20

     = 1.8km/hr

S
2
 = 0.8 ´60

         20

      = 2.4 km/hr



6) 50 an\n´v50 an\n´v50 an\n´v50 an\n´v50 an\n´v

x    
´

 
t

                     x-y

                  =       5  ´ 10

                        6 - 5

                  =  5 ´10

                  =  50  an\n´v

7) 8 8 8 8 8 km/hr

hn]-co-X-Zn-i-bn¬ k©-cn-®m¬

Bt]-£nI thKX  = a+b

5 +3 = 8 km/hr

 8)15 15 15 15 15 km/hr

kabw  =  Zqcw
    thKX

                          t
1
 = 40  = 4hr

                                         10

t
2
 = 25  = 5hr

        5

t
3
= 100  = 2hr

       50

     BsI Zqcw = 40 + 25+100

  = 165

  BsI kabw = 4+5+2 = 11 hr

   thKX = 165
                             11

   = 15 In.ao/aWn-°q¿

a[pcw aebmfw ˛ 5a[pcw aebmfw ˛ 5

1) `cn-°pI

2) DÆpI

3) hnkva-bn®p

4) tI´

5) h∂p tN¿∂p

6) Ddßn

7) ]pgpßn

8) Xo‰pI

9) Fgp-Xp∂p

10) AI¿ΩIw

1) T

2) T

3) _w

4) —

5) ivN

6) U

7) P

8) ≤

9) ∂

10) V




